

$$\lim_{x \rightarrow r} \frac{x - a}{x^p + ax + b} = -\infty$$

$$x - a \xrightarrow{x \rightarrow r} r - a = -1 \rightarrow \text{مخرج} = 0^+$$

$$(x-r)^p = x^p + ax + b$$

$$\left. \begin{matrix} a = -\varepsilon \\ b \leq \varepsilon \end{matrix} \right\} a + b \leq 0 \quad \checkmark$$

(۲)

$$\lim_{x \rightarrow \sqrt[p]{\varepsilon}} \frac{x}{x^p + ax + b} = +\infty$$

$$(x \sqrt[p]{\varepsilon})^p = x^p + ax + b$$

$$\text{مخرج} = 0^+ \rightarrow \frac{(\sqrt[p]{\varepsilon})^-}{(\sqrt[p]{\varepsilon})^+} \text{ مخرجی}$$

$$\left. \begin{matrix} a = -\sqrt[p]{14} \\ b \leq \sqrt{14} \end{matrix} \right\}$$

$$\left[\frac{b}{a} \right] = \left[\frac{\sqrt{14}}{-\sqrt[p]{14}} \right] = -1 \quad \checkmark$$

-1, 0 مخرج

(۲)

$$\lim_{n \rightarrow \left(\frac{1}{\mu}\right)^+} \frac{[n] + a}{\left|\frac{\sqrt[p]{\mu}}{\mu} n + a\right| + a} = -\infty$$

$$a > \frac{1}{\mu} \rightarrow \frac{a-1}{\mu a + \frac{1}{\mu}} = -\infty \rightarrow a = \left(-\frac{1}{\mu}\right)^+ \rightarrow \frac{\frac{1}{\mu}}{0^+} \rightarrow -\infty$$

$$n = \frac{1}{\mu} \rightarrow -n = -\frac{1}{\mu} \rightarrow [n] = -1 \quad \frac{a-1}{a + \left|\frac{1}{\mu} + a\right|}$$

$$a < \frac{1}{\mu} \rightarrow \frac{a-1}{a - \frac{1}{\mu} - a} = -\infty$$

$$[a] = \left[-\frac{1}{\mu}\right] = (-1) \quad \checkmark$$

(۲)

$$\lim_{x \rightarrow \left(-\frac{1}{\mu}\right)^+} \frac{[4x] - \left[-\frac{1}{\mu}\right]}{x^p + \left[\frac{x^p}{\mu}\right]}$$

$$x > -\frac{1}{\mu} \rightarrow x^p < \frac{1}{\mu} \rightarrow \frac{1}{x^p} > \mu$$

$$\begin{cases} \frac{1}{x^p} < -1 \rightarrow \left[-\frac{1}{x^p}\right] = -1 \\ \frac{1}{x^p} > 1 \rightarrow \left[\frac{1}{x^p}\right] = 1 \end{cases}$$

$$\frac{[4x] - (-1)}{x^p + \left[\frac{x^p}{\mu}\right]} = \frac{+1}{0^+} = +\infty \quad \checkmark$$

(۲)

$$\lim_{x \rightarrow r^+} \frac{x^p - \varepsilon}{x^p - [x^p]} \rightarrow \frac{x^p - \varepsilon}{x^p - 1} = \frac{(x-r)(x+r)}{(x-r)(x^p + \mu x + b)} = \frac{\varepsilon}{14} \neq \left(\frac{1}{14}\right) \quad \checkmark$$

$$x^p \rightarrow 1^+ \rightarrow [x^p] = 1$$

(۲)

$$\lim_{n \rightarrow -1} \frac{n^p + 10n + 14}{12 + 4\sqrt{n}} = \frac{9 - 10 + 14}{12 - 4} = \frac{0}{0}$$

$$\frac{n^p + 10n + 14}{4(p + \sqrt{n})} \times \frac{\sqrt[n]{n^p} - \sqrt[n]{10n + 14}}{\sqrt[n]{n^p} - \sqrt[n]{10n + 14}} = \frac{(n+1)(n+1)(\sqrt[n]{n^p} - \sqrt[n]{10n + 14})}{4(n+1)(\sqrt[n]{n^p} - \sqrt[n]{10n + 14})} \xrightarrow{n \rightarrow -1} \frac{-4 \times 12}{4} = -12$$

$$\lim_{n \rightarrow 0} \frac{\sqrt{1+G \sin n} - \sqrt{1-G \sin n}}{\sqrt{1-G \sin n}} = \frac{\sqrt{1+G} - \sqrt{1-G}}{\sqrt{1-G}} = \frac{0}{0} \rightarrow \left(\frac{0}{0} \right) \times \frac{\sqrt{1+G \sin n}}{\sqrt{1+G \sin n}} \times \frac{\sqrt{1+G \sin n} + \sqrt{1-G \sin n}}{\sqrt{1+G \sin n} + \sqrt{1-G \sin n}} \Rightarrow$$

$$\frac{(1+G \sin n) - (1-G \sin n)}{(-\sin n)(\sqrt{1+G \sin n} + \sqrt{1-G \sin n})} \xrightarrow{n \rightarrow 0} \frac{-2G \sin n}{-n(\sqrt{1+G} + \sqrt{1-G})} = \frac{-2G}{-(\sqrt{1+G} + \sqrt{1-G})} = -\gamma$$

$$\sqrt{1-G \sin n} = \sqrt{\sin^2 n} = |\sin n| = \sin n$$

$$\lim_{n \rightarrow \infty} \frac{k + G \sqrt[n]{a} n}{k n^p} \xrightarrow{\infty/\infty} \frac{k + 1 - \frac{a n^p}{p}}{k n^p} \xrightarrow{n \rightarrow \infty} \frac{k + 1}{k} = \frac{k+1}{k}$$

$k < 1 \rightarrow \frac{-a n^p}{-n^p} = \frac{a n^p}{n^p} = a \rightarrow a < 1$

$\frac{a}{k} = \frac{a}{-1} = -a$

$$\lim_{n \rightarrow \left(\frac{p}{a}\right)^+} \frac{\sqrt[n]{n-pa} + p \sqrt[n]{n} - \sqrt[n]{pa}}{\sqrt[n]{n^p - pa}} = \frac{0}{0}$$

$$\frac{\sqrt[n]{n-pa}}{\sqrt[n]{n-pa} \sqrt[n]{n+pa}} + \frac{p \sqrt[n]{n} - \sqrt[n]{pa}}{\sqrt[n]{n^p - pa}} \times \frac{\sqrt[n]{n} + \sqrt[n]{pa}}{\sqrt[n]{n} + \sqrt[n]{pa}} = \frac{p}{\sqrt[n]{n+pa}} + \frac{p(\sqrt[n]{n-pa})}{\sqrt[n]{n-pa} \sqrt[n]{n+pa} (\sqrt[n]{n} + \sqrt[n]{pa})}$$

$n \rightarrow \left(\frac{p}{a}\right)^+ \rightarrow \frac{p}{\sqrt{4a}} + \frac{p}{\sqrt{4a}} = \frac{p}{\sqrt{4a}}$

$$\lim_{n \rightarrow 1} \frac{1 - k(n)}{n^p - 1} \xrightarrow{\infty/\infty}$$

$n = (-1)^+ \rightarrow \frac{1+k}{n^p - 1} = \frac{1+k}{0^-} \rightarrow \infty$

$n = (-1)^- \rightarrow \frac{1+k}{n^p - 1} = \frac{1+k}{0^+} \rightarrow \infty$

$n = 1 \rightarrow \frac{1+k}{n^p - 1} = \frac{1+k}{0} \rightarrow \infty$

$n < 1 \rightarrow \frac{1+k}{n^p - 1} = \frac{1+k}{0^+} \rightarrow \infty$

$n > 1 \rightarrow \frac{1+k}{n^p - 1} = \frac{1+k}{0^-} \rightarrow \infty$

$k < -\frac{1}{p}$

$-1 < k < -\frac{1}{p}$

$-1 < k < -\frac{1}{p}$